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We do not say ‘since’, etc. — Iqanm Jaomr KD

OVERVIEW

There is an opinion concerning v"y’ that we say "1nn'; since we are permitted to do
certain MaX>» if it is for the purpose of wo1 92K, it is also permitted to do these
MOXY7 even when it is not wo1 721X 7M¥Y. X217 states that it is evident from "9 that
he disagrees with this view, and we do not say "71n%'. Our M990 will explain this.
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For if we would say 107, it would be permitted to burn the y»n on v"v.> There would
be no proof that 1n°2wn has to be done before v"v.

MooIN anticipates a question:
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Even though it is necessary (in order to utilize the 077 of 71nn) that some need

of 210 @y is fulfilled by this act®. If the needs of v"1 are not fulfilled (at all) by this 79K, it is
forbidden, even if we maintain "710%"; and burning v is seemingly not even n¥p o1 77X —

mooIn replies:
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Here the burning of the ynr is considered fulfilling a need of v"y.’

SUMMARY
If we maintain T10» then y7ar My°2 would be 20y on ©"y, since it is considered 017 7K.

THINKING IT OVER
1. According to the 7"n who maintains 71nn, when there is no 0117 71X (at all) is it
RNIIRTA MOR or 131271771 to do these nIaRHN?

2. How do we explain the debate in m501n whether 7211 71972 is considered 017 771X
(nXp) or not?

" In the x7m3 the X071 is "X instead of "Tnn'.

* Since we may make a fire w91 21X T8 we may also make a fire wo1 728 7MY Kow.

? It is possible that v" agrees that we say Tn»; however here yam 21572 is 10K since it is not 277 TN,

* Seemingly burning y»n is not fulfilling a v"» need (he is not deriving any 7X37 from this burning); it merely deals
with a separate ¥ (or MOX).

> He is o»pn the m3n of 1°awn (enabling him [perhaps] to observe the 1" properly).
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